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1. DoO0Da=(3,-1,2),b=(21,-1)0000,0000000000.

(0) za+yb=(5,-58) 000000 2, yOOODOOO.

(0) O0e-b0000O0.

(0) 0000 e=(p,—7,q 0a0b00000000000000p, ¢00000000.

1 2 -1 10 -1 1 00
2. 0oA=|lo03 -2 |,B=|12 2 |,E=|l01 0 |0ODOO,0000000000.
11 -1 31 -1 00 1
(0) 0000 ABOOOOOOO.
(0) 00 24+ED00O0OOOOOO.
(0) 00O |BjOOOOOOOO.
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3. DooOooDoOoOooOooooo.
(z+1)
0 )= 12
(O) f(z)=e€"cosz
(O) flzx) =log, (z*+1)
(0) f(x)=tan"'2z
4. DooooooooOOo0.
2
() (x — 1)z —2)dx
1
(D) COS.I?dx

= sin’z

5. (O 00 f(z)=log,(r+1) O 2xz=000000000000002x*000000000.
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